
12.3

12.4

12.5
12.6

222.352m

-16.594‰

194.452m

-18.231‰

194.452m

-18.231‰

34.855m

-14.776‰ 34.855m

-14.776‰

34.912m

-6.789‰ 34.912m

-6.789‰
20.953m

-2.195‰

28.065m
14.787‰

34.82
4m20.618
‰

34.82
4m20.618
‰ 155.

569m25.07
6‰

12.7

12.
8

12
.9

15
5.
56
9m

25
.07

6‰

72
.2
51

m
23
.52

9‰

72
.2
51

m

23
.5
29

‰

20
4.
61
1m

26
.0
95

‰

Rv
=5

00
0m

yv
=0
.00

4m
tz=

6.3
88

m

Z
Ú
   km

 12.288 566   101

 Z
Z
O
  151

K
Z
O
  153  

LN
  km
 12.296 039  152

641.820

Rv=5000myv=-0.002m

tz=4.091m

102  Z
P
 km
 12.376 423 103  Z

O
 km
 12.402 423

1
0
4
  K

O
=
Z
O
 k

m
 1
2
.4
7
2
 9
0
5

Z
Z

O
   1

5
4

K
Z

O
   1

5
6

L
N
  k

m
 1
2
.4
9
0
 4
9
1
  1

5
5

1
0
5
  K

O
=
Z

O
 k

m
 1
2
.5
0
6
 2
8
9

R = 242.000 m

V = 40 km/h, D = 52 mm, I = 27 mm
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V = 40 km/h, D = 0 mm, I = 6 mm
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